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(@ (1) ©@Eed
(i) cx8emMLHD
(iii) eien®xD
(iv) 315° , 20°
(b) (i) 30 -39
(i) 20 - 29
(iii) 18
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(iin) (-2, -4)

(ivy y =2x+2

03. (a)

(i) ax+ay—2x—2y

alx—y)—2(x—-y) (@1)

(a—y)(a—2) (@1)
(i) 4a3b? — 2ab

4ab (a?b — 3) (@2)
(b)

3x — 2y =27

5x — 2y =69

2 -1 2x=42

x =21 (@2)

x =21,1 0 pecmens

63 — 2y =27
36 =2y (@1)
18=y
(c)
. 2x-3 x-3
VT

3 (2x-3)-5(x-3)
15

6x—9—5x+15
— (@1)
x+ 6
= (@l1)
.t em—4m+5
(ii) T (1)
2m+5
iy (@l)
04.
(a) p X < Q
S Y * R
A A
pxs = xsy (Fo030) (@2)
A A
XSY = QYR (gudzs) (@.2)

A A
PXS = QYR (gosmes) (@.2)



(b) AD? =132 — 52

= /144
AD =12 (@.2)
AC? =12% + 167
AC =20 (@.2)
8088m - 13+ 12+5+ 16
= 46 (1)
5.
(a) 3 7

2 10 5
b)) (OS={531,5c2,583 201, 2O 2}

.oy 3
(i) E
6. @@ r=7cm (@1)
() = x2 x Zx7
2 7
= 22cm (@2)
Gi) 2 x 2 x7 x7
2 7
= 77cm? (@.3)
(iv) §= 14 x AC
=275cm=AC (@3)

(v) 14+ 2.75+ 2.75+ 22

415 x9
&c. 373.5 (@.2)
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